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MAC 2311 - Analytical Geometry and Calculus I
Quiz # 6, February 20, 2024

Problem 1 .

Given
y = cos(xy).

Use implicit differentiation to find y0(0).

Circle the correct answer below:

A.) 1

B.) �1

C.) 0

D.) p

E.) None of the above

 

Solutions

points

y He coscay

y sinlay y

y sinery g xg

Now if 2 0 we hire y
cos g 0

10510 1

So y o sin 0.1 1 0 y'to

0



Problem 2 . If
f (q) = sin(2tan(3q))

what is the value of f 0(0).

Circle the correct answer below:

A.) 0

B.) 2

C.) 3

D.) 6

E.) None of the above

5 points

fro sin 24130

COS 2ton 30 2 to 130

Cos 2ton 30 2 see 130 30

Cos 24130 2sec 30 3

f O 6 cos 2hrs30
sec 30

f 10 6 cos 24101 secco

6 05 O I

6


